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Ak 3k Be=87+3=29

3%k #=350+10=35
29x35=1015 £ B -

7. Use a 48 cm long rope to form an equilateral triangle. What is the length of the side of an
equilateral triangle in centimeters? (A)9 cm (B)12 cm (C)18 cm (D)16 cm
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48+3=16
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75+25=100

180-100=80

80-(32+44)=4
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17. Hulk has $20, and Woods has 4 times as much money as Hulk. How much money do Hulk
and Woods have together? (A)80 (B)100 (C)120 (D)140
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20x4=80
20+80=100 - :£ B -
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(7500+2+9990+3)=3

=(3750+3330)23

=7080+3=2360 » i A °

21. If a=9874x9877, b=9875x9876, which of the following is correct?
(Aa>b (Bla<b  (C)a=b  (D)b-a=3

<fZ{7>

% 2x3=06 1x4=4 > & HcfeH T 4Pk S Bz LA%] o H ffiAx

Al a=9874x9877 > b=9875x9876 > a<b » i£ B -

<¥ jz>
£ x=9875 » a=(x-1)(x+2)= x*+x-2
b=x (x+1)=x*+x » B] b>a > ® b-a=(x*+x)-(x*+x-2) =2

22. As shown 1n the figure, the quadrilateral ABDE is a rectangle and d 3
the quadrilateral FCDE is a square. CD=DE=6 cm, then what is the
area of the colored triangle AGE in square centimeters? (A)12 (B)14 6
(O)16 (D)18 G
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24. How many zeros will appear in the product of 999...999x999...999? (¥ &3 A i 0)
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